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1. Kputepun u cpeacTBa OLlEeHUBAHUS KOMIIETEHIMA U HHIAMKATOPOB HX JOCTHKeHHsI, (POPMHUPYEMbIX THCHHUILIHHOM (MOTYJIeM)

Kox n Pe3yabTaThl 00yyeHHs 10 AUCHUILIMHE (MOLYJIIO) OneHoYHbIE OuenouHbIe
Ko u HauMeHOBaHHMe MHANKATOPA(0B) JOCTUKEHHS cpeacTBa
HaMMeHOBaHHe cpeacTBa
KOMIIeTeHIIHU TeKyl1ero .
KOMIIeTeHIH MPOMesKYTOYHOI
3unamo Ymemso Bnaoemso KOHTPOJISA
aTTecTanuu
YK-4 NJI-1vk-4 TEMAaTHYECKUH paboTats ¢ HaBBIKAMH
Cnocoben Hcnonp3yer pasnudHbie (GOpMBI, BHABI YCTHOW U CIIOBaph; OCHOBBI IEIIOBOU paboTHI ¢
OCYIICCTBIIATH [HUCHbMEHHOM p1() (:10)71 KOMMYHHKaIN Ha | opraHW3alUy JENOBOH | JOKyMEHTaIMei JIETOBOI
CII0BYIO 51 7|
pit y TOCYAapCTBEHHOM s13bIke Poccuiickoii @eneparim KOMMYHHKAIHH HA Ha S3BIKE, KOPPECTIOH/ICHITH
KOMMYHHUKAIHUIO B WJI-2 k-4 . .
o AHIIIMIICKOM SI3bIKE; BKJIFOYAst TAKHE eif; HaBbIKaMHU
YCTHOU 1 OcymecTBisgeT KOMMYHHKAIIHIO, OCHOBBIBAsICH Ha o o
i OCHOBHBIE (HOPMBI OpMBI KaKk NPOBEICHUS
MHCBMEHHOM GOopMax | cpcreme HOPM M3y4aeMOro HWHOCTPAHHOIO S3bIKa, . p P PoBea
Ha TOCYAApPCTBEHHOM | ycrosib3ys KOMMYHHKATHBHO TpUeMNeMblii cThip B | ACTTOBOH pestome, GusHec- | TMHTBOCTHIMCTHY
si3bike Poccuiickont COOTBETCTBUHU C IIETBIO U CUTYyaluel o0IeHus AOKYMCHTAIlMH Ha IJ1aH, AcJioBast C€CKOT'0 aHajInh3a
®enepauuu 1 N/I-3 vk-4 AHTJIMHACKOM SI3BIKE U TIpe3CHTAIHA, JIEJIOBOT'O TEKCTa
HHOCT]()aH)HOM(HX) Brinonnser A JIMYHBIX uesei NEPEBO | CIIOCOOHBI €€ BEACHUS JEeJI0OBOE ITUCHMO;
sA3bIKe(ax
OopUIMATBHBIX W NPOPECCHOHATIBHBIX TEKCTOB C paGoTats co - THUIIOBBIC
WHOCTPaHHOTO A3bIKA HA PYCCKHUIL, C PYCCKOTO A3bIKa CITOBAPAMH, 3aJaHust JJIs
Ha WHOCTPAHHBIA BBINOJTHEHUS
SHLUKIIONEANUIMH
YK-5 HJI-1vk-5 MPaKTUYECKUX Pabora Ha 3aHATHAX
W IpyTUMU .
Crniocoben AHanu3upyeT W MHTEPIPETUPYET MEKKYIHLTYPHOE Py pabor; Tecr
BOCIIPUHUMATH Pa3HOOGpa3ue COBPEMEHHOTO OOIIECTBA HA OCHOBE CHpaBOYHLIMH - TECTOBbIE
MEXKYJIbTYypHOC 3HAHMS UCTOPUHU MaTepuajaMu 3aaHusd;
paszHooOpazue NJI-2vK-5 TeMaTU4YeCKOU
obuiecTsa B VYYuTHIBaeT NPH CONMAIBHOM M TNPO(PECcCHOHATHHOM HaIpPaBJICHHOCTH
COLMaJILHO- oOIeHnn HUCTOPHYECKOE Haclee "
HCTOPHICCKOM, COLMOKYJIbTYPHBIE TPAIUILUKM PA3IUYHBLIX COLHAIBHEIX
9THIECKOM H IpyHI, 3THOCOB U KoH(eccuil, BKIIOYas MHPOBbBIE
unocoderom penuruu, Gumocodckre v ITHUESCKUE yUSHUS
KOHTEKCTaX NJI-3yk-5
[MpuaepxuBaercs NPUHIIUTIOB
HEJIMCKPHUMUHALMOHHOTO B3aUMOJICHCTBHS B ITpoIiecce
KOMMYHUKAIHU B LeIsIX BBITOJTHEHUS

HpO(i)eCCI/IOHaIILHI)IX 3aa4 U YCHUJICHUSA COHHaJ’IBHOﬁ
HWHTCTpallun




2. OueHka ypoBHs cGOPMHUPOBAHHOCTH KOMIMETEHIUI (MHINKATOPOB UX JIOCTHKEHH)

Iloka3zarenu IIxaJjia 1 KPpUTEPHHU OLEHKHU YPOBHs COPMHUPOBAHHOCTH KOMIIETEHIMH (MHAUKATOPOB MX A0CTUKEHH)
OueH“BaH"ﬂu Hwu:xe moporosoro IHoporosbrii IIpoaBUHYTHIH Boicokmii
KOMIeTeHI Ui
(«HEY008IeMBOPUMENBHOY) («y0o81emeopumenvHo») («xopowioy) («omauuno»)
(MHIMKATOPOB
X JOCTHKEHHS)
oanora YpoBeHb 3HAHUI HUXKE MuHMMaIbHO TOMYyCTUMBINA YPOBEHB YposeHb 3HaHHI B 00BEME, YpoBeHs 3HaHUIT B 00BEME,
3HAHUH MUHHMAJIBHBIX TpeOOBaHUIA. 3HAaHUH. COOTBETCTBYIOIIEM IIPOTPaMMe COOTBETCTBYIOIIEM MIPOTPaMMe
Wwmenu mecto rpyObIe ONIHOKY. JlomyieHs! He TpyOBIe OIIMOKH. MOJITOTOBKH. MOJATOTOBKH.
Jlony1eHbl HEeKOTOPbIe HOIPELIHOCTH.
Hanuune [Tpu BBIMOSHEHUN CTAHAAPTHBIX [TponeMoHCTPUPOBaHBI OCHOBHBIC [IponemoHcTpUpoBaHbl Bce OCHOBHBIE | [IpomeMOHCTpUpOBaHbI BCe OCHOBHBIC
yMeHmHit 3aJJaHuil He POJIEMOHCTPUPOBAHBl | YMEHHS. YMCHUSI. YMCHUSL.
OCHOBHBIE YMEHHSI. BeinonHeHb! TUIIOBBIE 3aJaHUS C HE BeinosHeHB! Bce OCHOBHBIC 331aHusI C | BEHINOIHEHBI BCE OCHOBHBIE U
Wwmenu mecto rpyObIe ONIHOKH. rpyOBIMHU OIIHMOKAMH. HEKOTOPBIMU MOTPEITHOCTSIMH. JIOTIOJTHUTENBHBIC 3aaHus 0€3 OIUOOK U
BrimonHeHsI Bee 3a1aHus, HO HE B BrImoHEHBI Bce 3a1aHus B IOJTHOM MTOTPEITHOCTEH.
MIOJTHOM 00beMe (OTCYTCTBYIOT 00BEMe, HO HEKOTOPEIE ¢ HeoueTaMi. | 3aJaHUs BBHIITOJHEHBI B IIOJTHOM 00BheMe
MOSICHCHHSI, HETIOJTHBIC BBIBOJIEI) 0e3 HeJI04eTOB.
Haauune [Ipu BEIIOTHEHNH CTAHIAPTHBIX Hmeercss MEHUMAITBHBIA HAOOP [IpogemMoHCTpHPOBaHBI 0a30BBIC [IponeMoHCTpUPOBaHBI BCE OCHOBHBIC
HABBIKOB 3aJJaHui HEe TIPOJIEMOHCTPUPOBAHBI | HABBIKOB JUIS BHITONHCHHUS HABBIKH TIPH BBIITOJTHCHUN YMEHUSI.

(BJIaIeHHE ONBITOM)

0a30BbIC HABBIKH.
Nwmenu mecto rpyObIe ONTHOKH.

CTaHAAPTHBIX BaI[aHI/Iﬁ C HCKOTOPbIMH
HEA0UYCTaMU.

CTaHAAPTHBIX SaHaHI/Iﬁ C HCKOTOPbIMH
HCJO0YCTaMHU.

BrImosHEeHBI Bce OCHOBHBIC U
JIOTIONTHUTEBHEIC 3aJJaHus 0e3 OINO0K 1
HOTPEIIHOCTEH.

IIponemMoHCTpUpPOBaH TBOPUECKU I
MOJXO0JI K PELICHUIO HECTaHAaPTHBIX
3a1ad4.

Xapakrepucruka
copMupoOBaHHOCTH
KOMMETEeHIIUH

Komnerennnu gaxTuuecku He
c(OpMHUPOBaHBbI.

Nmeronuxcs 3HaHUN, YMEHUH,
HaBBIKOB HEZOCTATOUHO JIJIS
peLIeHus MPAaKTHYECKUX
(mpodeccnoHaNbHBIX) 3a/1a4.

nim

3ayeTHOE KOJIMYECTBO 0AJIJIOB HE
HaOpaHO COTJIaCHO
YCTaHOBJICHHOMY JHANa30Hy

CdhopMUpOBaHHOCTH KOMIIETEHIIHI
COOTBETCTBYET MHUHUMAJILHBIM
TpeOOBaHUSIM.

Nmeromuxcst 3HaHUM, yMEHMUI,
HaBBIKOB B II€JIOM JIOCTaTOYHO JIJIS
pEIICHHS MPAKTUICCKUX
(mpodeccruoHaBHBIX) 3a1a4.

WJIn
Habpano 3aueTHOE KOH4YecTBO OAIIOB
COTJIACHO YCTAHOBJICHHOMY JHaNa3oHy

CdopMupoBaHHOCTH KOMIIETSHIIHIA B
IIEJIOM COOTBETCTBYET TPEOOBAHUSAM.
MNmeromuxcst 3HaHUM, yMEHUH,
HaBBIKOB JIOCTATOYHO JUIS PEIICHHS
CTaH/IaPTHBIX MPOHECCHOHATBHBIX
3ajad.

W
Ha6pano 3a4eTHOE KOJUIECTBO OAIIIOB
COTJIACHO YCTaHOBJIGHHOMY JTHAIIa30HY

ChopMUpOBaHHOCTH KOMITETCHIIHI
MOJTHOCTBIO COOTBETCTBYET
TpeGOBaHUSM.

Nmeromuxcs 3HaHUM, yMEHHM, HAaBBIKOB
B MIOJTHOM Mepe JOCTATOYHO ISt
pelICHUs CIOXKHBIX, B TOM YHCIIE
HECTaHIAPTHBIX, TPO(PECCHOHATEHBIX
3amad.

W

Habpano 3aueTHOE KOJTHMYECTBO OAIIOB
COTJIACHO YCTAHOBJICHHOMY JMAIa30HYy




3. Kputepun u mkaja oneHMBaHUs 32IaHUI TEKYIIIEr0o KOHTPOJIsI

3.1 Kpurepun ¥ mkaia olleHUBAaHUS IPAKTHYECKUX pPadoT

[Tepeuens mpakTUYECKUX padOT, OMUCAHHME TOPSAKA BBHIMOTHEHHS W 3alIUTHl PabOTHI,

TpeOOBaHUs K pe3yibTaTaM pabOThl, CTPYKTYPE U COACP>KAHUIO OTYETA U T.I. MPEACTaBICHBI B

MCTOANYCCKUX MaT€pualax IO OCBOCHHUIO AHUCIHMUIIIMHBI (MO,I[y.]'IH) U B JJICKTPOHHOM KYpPCE€ B

Ounenka/6annnl Kpurtepnn onennBanus

Omnuuno 3aganHue BBITIOJIHEHO TIOJTHOCTBIO u MPAaBUIIBHO. Otuer o
71a00paTOPHOM/IPAKTHYECKOH paboTe MOJATrOTOBIEH KaYeCTBEHHO B COOTBETCTBHHU C

TpeboBaHMAMH. [I0THOTa OTBETOB Ha BONIPOCHI MPEMNOABATENS MIPH 3AIMUTE PAOOTHI.
Xopowio 3ajaHue BBIIOJHEHO MOJHOCTHIO, HO HET JOCTATOYHOrO OOOCHOBAHUSI WIIM TPHU
BEPHOM pCIICHWH JONYNICHA HE3HauYWTeNbHas OIMMOKa, HE BIMAOMIAs Ha
MIPaBIJIBHYIO MIOCJIEA0BATEIFHOCTD paccykaeHui. Bee TpeboBanust, npeabaBiIseMble

K paboTe, BHIOIHEHBI.

Yooenemeopumensno | 3amaHus BBHINOJHEHBI YaCTUYHO C OMIMOKaMu. J[eMOHCTpHpYET CpeqHHH YpOBEHBb

BBIIIOJIHEHHU 3aJaHUs Ha JabOpaTOpPHYIO/TIPaKTHUECKylo paboTy. boipmmHCTBO
TpeOOBaHUH, IPEIBABISIEMBIX K 33/1aHHIO, BBITIOJIHEHBI.

Heyooenemeopumenvno

3aHaHI/Ie BBIMTOJTHEHO CO 3HAYUTEIbLHBIM KOJUYSCTBOM OIIMOOK HA HU3KOM YpPOBHC.
Mmnorue Tpe60BaHI/I$[, NpCABABIIACMBIC K 3a/IaHUIO, HE BBITIOJIHCHBI.

N

3aHaHI/Ie HC BBIITOJIHCHO.

3.2 KpuTepnu u mkana oneHHBaHNWS TECTUPOBAHUS

Hepequb TECTOBBIX BOIIPOCOB U SaHaHHﬁ, ONMHMCaHUC TMpoUCAYpbl TECTUPOBAHUA

MNpEACTaBJICHBI B MCTOAUYCCKUX MaTCpruajliax II0 OCBOCHHUIO JHCHUIIINHBI (MO,Z[y.]'IH) n B

anekTpoHHOM Kypce B DMMOC MAY.
B ®OC BxitoveH TUIIOBON BapHaHT TECTOBOI'O 3aJaHMUSI:

1. The odd one out
Circle the word that does not belong to the same field in each horizontal group:

business company society subsidiary
salary manager salesman employee
finance product research marketing
distributing  selling assembling  promoting
components  tools hardware strategy
end user customer client distributor

Il. Word definition
Which of the groups of three words that you identified above refer to the following

definitions?

people Who buy goods Or SEIVICES.........ccccveiiiiiieeiieciec e
types of commercial organisations............cccocevvevieiiveresiesneseseeneean,
different departments or fUNCLIONS...........cccccvvviiiiiie e,
people who work inside @ COMPaNY.........ccocevererininienese s
activities that involve meeting CUSTOMErS..........cocevvveiieiieciie s e
products that can be sold............ccvevviiiien




I11. Adjectives of Nationality

Read the ten short passages. Below each one you will find a sentence which you
should complete using an adjective of nationality. Make sure that your sentences reflect the
information that is contained in the passage itself.

Packard Bell Electronics has already taken 10% of the US computer market and has
perform better, in some areas, than its two main national rivals Compaqg and Apple. Compaq,
Apple and Packard bell are ....................

Nordak is currently recruiting a senior manager who will head up the UK office of its

first foreign subsidiary. Nordak is not of ..........ccccovveiiiiininiiie e origin.
The shares of Heineken NV reached a record level of 244.5 guilders yesterday on their
home market in Amsterdam, Holland. Heineken is a ...........ccccocenevinnnnne. company.

The 'Societe de Bourse Franchise' publishes an annual guide to the 120 biggest national
companies whose shares are sold on the Paris exchange. The Paris exchange sells the shares of
the 120 biggest ........ companies.

Coroll have received several enquiries from companies who are interested in representing
products in Spain. However, for the time being they have no intention of expanding into that part
of Europe. Coroll has no plans to enter the ..., market.

IV. Advertising slogans
Read the slogans and match them with the products or institutions for which you
think they were actually used.

Get into our bed and sleep better ................... a. cosmetic cream

Down under: it's home to US .........ccocvrvrirnenn. b. ‘Nordic ski’ exerciser
Would Mrs O'Brien trust her precious soles to just anyone. c. Australian airline company
| went to work and left my wrinkles at home .................. d. socks

Waist disposal unit................... e. matress

V. Word-Field matching
Circle the word that does not belong in to the field in each horizontal group.

1 promotion export pricing packaging

2 clause client contract brochure

3 slogan fee money pay

4 star executive actor celebrity

5 to endorse to afford to promote to support

6 computer television commercial advertisement
7 publicity image reputation agent

8 to plummet to fall to rise to drop




V1. Compounds
Match the words on the left with the words on the right to make compound nouns

which are commonly used in advertising.

shops.

shops.

market a. audience
mass b. time
target c. media
direct d. symbol
status e. research
sales f. mail

prime g. promotion

VII. Do or Make

Complete the following sentences with the correct form of make or do.

Store managers ...decisions about which products to keep and which ones...away with.
Although that company has almost the same name as ours, we have nothing ....with them.
You should ....... certain that the customers are always satisfied.

In many cases, it .... sense to stock original products that cannot be found easily in other

He....... a living as store manager for over 30 years and does not plan to retire yet.
Could you .... me a favour and work the morning shift?
...................... workers redundant is never an easy task for a manager.

VII1. Prepositions

Fill in the blanks below with the correct prepositions.

Although Leila is young, she is already successful.................... business.

Itis necessary..........c.c....... us to improve our after-sales service.

Is your computer compatible ........................ mine?

The customers are very critical .................. some of the products we sell.

We must be attentive ..........c.cccoevvvrveieiennen, the needs of our customers.

1. Our customers are fond .....the 'personal touch' that we try to emphasise in each of our

IX. Business expressions
Match a word from each of the columns below to form expressions that could be

used to replace the words in italics in sentences. Write the answers in the space provided
after each sentence.

VERBS
check 6 raise
provide 7 change
move 8 withdraw
pay 9 earn
order 10 issue

NOUNS
capital f the bill
cash g interest

foreign h a statement



'y
funds i shares
a loan J balances

In order to increase financial resources the company intends to sell units of its capital on
the STOCK MAIKEL.......ccveiiicii s e

Nowadays it is possible to transfer money between different accounts using an electronic
banking system installed in your home. ...........ccccooviiiiiinie

My bank has agreed to give me the money | need, repayable over three years, to help me
get the business started. .........ccocovvvirenienieiee e

It doesn't matter if the banks are closed when | arrive because I'm sure that at the hotel in
Zurich I'll be able to convert some dollars into SWiss Francs. .........cccocvvevviiinnennesiensnenne.

X. Company’s performance assessment

Read the following authentic newspaper headlines and decide in each case whether
they reflect a good (+), average (0) or poor (-) performance of the company's shares on the
Stock Exchange.

Matsushita expects Y85bn profit boost........................e.

Welpac dives to £1.2m 10SS.......ooviiiiiiiiiiiiiiieen,

Philips surges to £193m in third quarter.......................

Jump in Rhone-Poulenc income.....................ooeeee.

Bibby falls £10.7 into thered.................ooiiiiiiiiii.

Sumitono Metal Mining tumbles.....................c.oo.n.

XI. Commonly confused words.

Circle the correct word in brackets in each of the following sentences.

This report examines the (relationship/relation) between education and the level of
development in Africa.

During the meeting, he made a brief (illusion/allusion) to the decline in exports to
Western Europe.

Austria has been (accepted/excepted) into the European Union.

Of the two proposals put forward, | prefer the (later/latter).

(Who's/Whose) responsible for consumer affairs in this company?

XI1. Countable and uncountable nouns.

In each of the following sentences indicate with a tick (V) or a cross (X) whether the
noun in italics has been used correctly. If not, write the sentence out correctly in the space
provided.

Their training has been organised to cover basic communication skills..............c.c.cccee...

Over the years our company has accumulated a lot of experiences in the field of laser
SCANNING TECNNTGUES. ... ee ettt st sa e st e et easbaesreeabeesteennneens

Our premises are located in the centre Of Brussels. ........ccovevviiiiiiie i,

Businesses were especially good last quarter and this will affect our profits for the year...
The datas show a fall in the number of fatal acCidents. .........c.ccccevveieiieniicic s,

Koarou:

No OtBer
I

1 society
2 salary




product

assembling

strategy

distributor
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American

British

Dutch

French

Spanish
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export

brochure

slogan

executive

to afford

computer

agent

to rise

le

2C

3a

4f

5d

69

7b

make, to do

to do

make

makes

has been making/has made

do

To make/Making
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in

for

with

of

to

OO RW I

of

X

1]

2f

3d

4f

5h

6a

7C

8b

©I0INo O W =

9

-

0.

10i

raise capital/issue shares

move funds

provide a loan

HlwNE

change foreign money

+|+

relationship

allusion

accepted

latter

Who's

\

X experience

\

X Business

GBI IO WINE X O R W N X

X data

Ounenka/o0aibl

Kpurtepuu oueHku

Omauuno

90-100 % npaBUIIBHBIX OTBETOB

Xopouwio

70-89 %  mpaBHIBHBIX OTBETOB

Yooenemeopumenwvno

50-69 % npaBHIBHBIX OTBETOB

Heyoosnemeopumenvno

49% u MeHbllIE IPaBHIbHBIX OTBETOB

Kpurepun u 1kajia olleHUBaHUS ITOCENAEMOCTH 3aHITUN




[Tocemenue 3aHATHI 00yUYaIOIIMMHKCS ONPEENSIETCS B IPOLEHTHOM COOTHOILIEHUU

Banibl Kpurtepnu onenkun
10 nocemraeMmocts 75 - 100 %
5 nocemaeMocts 50 - 74 %
0 nocemaeMocts Mmeuee 50 %

4. KpnTepnn U IIKa/JIa ONCHUBAHUSA PeE3yabTaTOB Oﬁy‘leﬂlflﬂ no AUMCHMIIINHE
(MO)Iy.]'[]O) IpH NPpOBE€ACHUHN NPOMEKYTOUHOM ATTEeCTALINN

KpuTepnu u 1mikana OleHHUBAHKS PE3YIbTATOB OCBOCHUS TUCIIAILINHEI (MOI[VJ'IH)
C 3aYE€TOM C OIICHKOM
Ecmu o6yqafomnﬁc;1 Ha6paJ1 3a4ETHOE KOJHUYECTBO 0ajIJIOB COIJIACHO YCTAaHOBJICHHOMY
Auara3ony 1o JUCHUILINHE (MO,I[y.TII-O), TO OH CUHHUTACTCA aTTCCTOBAaHHBIM.

OuneHka Bansbl Kpurepuu onennBanus

Ha6paH0 3a4€THOE KOJUYCCTBO OAIJIOB COTJIaCHO
YCTAaHOBJICHHOMY JUAIIA30HY

3aumeno 60 - 100

3a4eTHOE KOJIMYECTBO COrIaCHO YCTaHOBJICHHOMY

He3zaumeno meHnee 60
JIManazoHy 0ajmioB He HaOpaHO

5. 3ajaHusi AMATHOCTHYECKOIl paldoThl 1JIsi OLEHKH pPe3yJbTATOB O0Oy4YeHHSI 110
AUCHHUILIMHE (MOIYJII0) B pAMKaX BHYTPeHHell ¥ BHellIHell He3aBHCHMOM OIleHKH KayecTBa
o0pa3oBaHus

®OC comepxuT 3afgaHusl Il OLIGHWBAHUSA 3HAHWW, YMEHUH M  HABBIKOB,
JEMOHCTPUPYIOIUX YPOBEHb C(OOPMHUPOBAHHOCTH KOMIIETEHIMH W HHAMKATOPOB UX
JOCTH>KEHUS B IIPOLIECCE OCBOCHUS JUCLUIUINHBI (MOAYIISA).

Kommniexkt 3amanuil paspaboTan Takum o00pa3oM, uTOOBI OCYLIECTBUTH MPOLEAYPY
OLIEHKH KaXJIOW KOMIIETEHLINH, (POPMUPYEMBIX JAUCHUILUIMHON (MoayieM), y oOydaromierocs B
NUCbMEHHOU (opMme.

Conep:xaHue KOMIUJIEKTA 331aHUN BKIIIOUAET: mecmosble 3a0aHusl.

KoMiuiekT 3a1aHuii IMarHOCTUYECKOI padoThI

VYK-4 CnocobeH oCyIIecTBIATh A€I0BYI0 KOMMYHHUKAIMIO B YCTHON U MUCbMEHHOM (popmax
Ha rocyJ1lapcTBeHHOM s3blke Poccuiickoit denepannu 1 HHOCTPaHHOM(BIX ) A3bIKE(aX)

VYK-5 CriocobeH BoCIpUHHMAaTh MEXKYJIbTYpPHOE pPa3HOOOpa3ue OoOIIecTBa B COLMAIBHO-
UCTOPUYECKOM, 3THYECKOM U (PHIOCOPCKOM KOHTEKCTaX

| Bapuanrt

SOME FACTS ON THE DEVELOPMENT OF THE NUMBER SYSTEM

A Counting represents a very important milestone in the progress of civilization. Of

course there were no number names at first; so counters were used. For counters man used sticks,



pebbles, his fingers, and in some instances, his toes also. In fact the word calculus comes from

the Latin, meaning pebble; our numerals are called digits from the Latin, meaning finger.

B It is possible to mention only a few important achievements in the history of
mathematics. Historical records give evidence of the astronomical and arithmetical achievements
of the early Babylonians, Sumerians, and Chinese. Somewhere in the distant past man learned
that number was useful for civilized living. As early as 5,700 B.C. predecessors of the

Babylonians had calendar and a type of practical arithmetic.

C Only about 300 years ago a great mathematician and philosopher, Rene Descartes
(1596-1650), represented number pairs by points. This creation made possible the great advance
in science and mathematics during the eighteenth century. In 1642 one of the greatest minds of
all time Isaac Newton was born (1642-1727). Newton was one of the inventors of the calculus
which is now studied by college students who are seriously interested in mathematics or physical

science.

D Like Archimedes, Galileo, Copernicus and Newton, Lobachevsky (1792-1856) is one
of those who laid the foundations in science. Lobachevsky created one of the greatest

masterpieces of mathematics — non-Euclidean geometry.

E Our number system uses only the symbols 0, 1, 2, ... 9; it has base ten and positional
notation. Thus any integer can be expressed with these symbols in various combinations and
arrangements. The base of our system is ten. Ten is probably the base because we have ten
fingers and the fingers were used in the early stages of counting.

F It is not known when or by whom zero (nought) was invented. Historians thinks that
zero was introduced by the Hindus or the Babylonians not later than in the ninth century A.D.
and probably as early as the second century B.C. The invention of zero and our number system is
one of the greatest achievements of the human race, without which the progress of science,
industry, and commerce could be impossible. This new system was introduced in Europe by
Arabs, or Moslems, at about the beginning of the tenth century. These new numbers were used,

and finally, after about five centuries, the decimal system won the battle.

milestone — Bexa masterpiece — menesp

pebble — ranpka, OynbDKHUK

Buvioepume omeem, coomeemcmeyrouuii cooepiicanuio mekcma

1. (3muH, YK-4, I1K-3) What was the turning point in the development of civilization?




A ... the development of geometry C ... binary system of notation

B ... counting D ... the invention of a wheel

2. (3muH,
A ...

B...

3. (3mun,

MaJIOYKH,

3asepuiume npeonoicenue 6 COOMEEM MUl ¢ OCHOGHOI memoii adzaya
VK-4, TIK-3) The passage F is about
the development of counting in Europe
the progress in Hindus industry
.. the spreading of the knowledge about number zero round the world
.. the Babylonians
Onpeodenume, 8 Kakom adzaue cooouiaemcs

YK-4, TIK-3) o ToM, 94TO B APEBHOCTH JIFOJU UCTIOIL30BAIH JUIs cuéTa HE MUQPHI, a

KaMCIIKH M T.II.

4. (3mun, YK-4, TIK-3) Boibepume npeonosrcenue, coomeenmcmeyiouiee cooepicanuio

meKkcma.

A

B

Newton was the first who represented number pairs by points.

It is well known when and by whom zero was invented.

C The Latin word calculus means sticks.

D

One of the important achievements in the history of mathematics was the creation of

non-Euclidean geometry.

5. (3muH,
A
B
C

D

Ilpouumaiime navano npeonoxcenus u gpldepume 2o nPoOOIdHceHue
YK-4, T1K-3) The base of our system is ten because
... early Chinese used ten as the base for counting
... ten fingers were used in the early stages of counting
... Archimedes introduced this number

... mathematicians found this number very useful




Coomuecume oOanHble ymeepm&enuﬂ C coomeemcmeyrouiumu 063(”{“./”” meKkcma

(A,B,C,D,EunuF)
6. (3mun, YK-4, TIK-3) Ten numeration system came to Europe at about 10th century.
7. (3mun, YK-4, TIK-3) The modern form of calculus was invented by Newton.
8. (3mun, YK-4, TIK-3) At first numbers had no names.
9. (3muH, YK-4, TIK-3) The word digit came from Latin.
10. (3mun, YK-4, TIK-3) A point can be represented by a pair of numbers.

3amenume CJ1060, oannoe 6 cxoﬁkax, AH2TUTCKUM IKBUBATICHIMOM

11. (2 mun, YK-4, TIK-3) (dpo6mu) like % represent values less than one.

12. (2 mun, YK-4, TIK-3) If (MmuOkecTBa) contain the same elements in exactly the same order

they are equal.

13. (2 mun, YK-4, T1K-3) (Cnoxenue) is the reverse operation of (Berunranuist).

14. (2 mun, YK-4, TIK-3) Two number lines are intersected to form a coordinate (miockocts).
15. (2 mun, YK-4, T1K-3) (Hyra) is a curved segment of a circumference.

16. (2 mun, YK-4, TIK-3) To find the value of the (mepemennas) we should solve the equation.

17. (2 mun, YK-4, TIK-3) The chess-board Geometric Progression is an (Bo3pacrarorias)

progression.
18. (2 mun, YK-4, TIK-3) The common (cootnomenue) Of a progression may be negative.
19. (2 mun, YK-4, TIK-3) The (u3mepenus) are to be as precise as possible.

20. (2 mun, YK-4, TIK-3) A (tpeyronsnuk) is a plane figure founded by three straight lines and

containing three angles.

21. (2 mun, YK-4, TTIK-3) You can check (nenenue) by (ymaOKeHHEM).
Bcmaevme popmy ckazyemozo

22. (2 mun, YK-4, I1K-3) Mike came when | the equation.

23. (2 mun, YK-4, TIK-3) He just a square.




24. (2 mun, YK-4, TIK-3) We a chord as a line whose endpoints are the points of a

circumference.

25. (2 mun, YK-4, TIK-3) Newton __ a professor of mathematics in 1669.

26. (2 mun, YK-4, IIK-3) Listen, she the second proof of this theorem now.

27. (2 mun, YK-4, TIK-3) Polynomials always more than one term.

28. (2 mun, YK-4, TIK-3) She just the result.

29. (2 mun, YK-4, TIK-3) The teacher about the features of plane figures now.

30. (2 mun, YK-4, TIK-3) Lobachevsky non-Euclidean geometry in the 19" century.
31. (2 mun, YK-4, IIK-3) The student used this theorem while he the problem.

3amenume MoOaIbHBLI 27142071 IKEUBAICHINOM
32. (2 mun, YK-4, TIK-3) He must prove this statement.
33. (2 mun, YK-4, TIK-3) She can give the definition of closure.
Ynompeﬁume coomeemcmeyrouiyro Cnmenenb CpasHenusn
34. (2 mun, YK-4, TIK-3) He met his friend yesterday. (good)
35. (2 mun, YK-4, T[IK-3) Public transport in London is (expensive) than in Paris.
Ilepesedoume npeonosricenusn

36. (2 mun, YK-4, TIK-3) The man standing at the desk is my research adviser.
37. (2 mun, YK-4, TIK-3) They expect to be given complete information by Friday.
38. (2 mun, YK-4, TIK-3) The problem being easy, the students solved it at once.
39. The problem is likely to be solved.

Ilocmasvme cnoea 6 npasujibHoOm nopﬂdke

40. (2 mun, YK-4, TIK-3) the news — yesterday — saw — television — I —on

KJIFOYMU | Bapuanr:



1 B/2 C/3 A/4 D/5 BI6 FI7 C/8 A/9 A/10 C/1lfractions/12 sets/13 addition, subtraction/14
plane/15 an arc/16 unknown/17 increasing/18 ratio/19 measurements/20 triangle/21 division,
multiplication/22 was solving/23 has drawn/24 define/25 became/26 is giving/27 contain/28 has
checked/29 is speaking/30 developed/31 was solving/32 has to/33 is able to/34 best/35 more
expensive/36 UYemoBek CTOSIIMA y CTONa — MOM Hay4dHbId pykoBoauTedb. /37 OnHu
PACCUUTHIBAIOT HA TO, YTO UM JaayT MOJHYI0 HH(popmanuio K nstHuie. /38 Tlockoibky 3amaua
ObLIa JICTKOM, CTYACHTHI pemmiu e€ cpady. /39 BepostHo, 3amauy pemar. /40 Yesterday | saw

the news on television.

Il BapuanT

THE DIFFERENTIAL CALCULUS

A The differential calculus is concerned with rates of change. In practical life we
constantly come across pairs of quantities which are related, so that after both have been
measured, when we know one, we know the other. Thus if we know the distance along a road
from a fixed point we can find the height above sea level from a map with contours. If we know
the time of day we can determine the air temperature on any particular day from a record of a
thermometer made on that day. In such cases we often want to know the rate of change of one

relative to the other.

B If x and y are the two quantities, then the rate of change of y to x is dy/dx. For example
if X is the distance of a point on a railway from London, measured in feet, and y the height above
the sea level, dy/dx is the gradient of the railway. If the height y increases by 1 foot while the
distance x increases by 172 feet, the average value of dy/dx is 1/172. We say that the gradient is
1in172.

C The mathematical part of the calculus is the art of calculating dy/dx if y has some
mathematical relation to x, for example is equal to its square or logarithm. The rules have to be
learned like those for the area and volume of geometrical figures, and have the same sort of
value. No area is absolutely square, and no volume is absolutely cylindrical. But there are things
in real life like enough to squares and cylinders to make the rules about them worth learning. So
with the calculus it is not exactly true that the speed of a falling body is proportional to the time

it has been falling. But this is close enough to the truth for many purposes.

D The differential calculus goes a lot further. Think of a bus going up a hill which

gradually gets steeper. If x is the horizontal distance, and y the height, this means that the slope



dy/dx is increasing. The rate of change of dy/dx with regard to y is written d® y / dx?. In this case
it gives a measure of the curvature of the road surface. In the same way if x is time and y
distance, d’ y / dx? is the rate of change of speed with time, or acceleration. This is a quantity
which good drivers can estimate pretty well, though they do not know they are using the basic

ideas of the differential calculus.

E If one quantity depends on several others, the differential calculus shows us how to
measure this dependence. Thus the pressure of a gas varies with the temperature and the volume.
Both temperature and volume vary during the stroke of a cylinder of a steam or petrol engine,

and the calculus is needed for an accurate theory of their action.

contours — 2eodes. ropu30HTAIb slope - ykion
gradient — rpagueHT, yKJIOH estimate - oueHuBaTh
steeper — 6osiee KpyTOI stroke — xox

Boibepume omeem, coomeemcmeyoujuil coo0epiHcanuio meKkcma
1. (3 muH, YK-4, [IK-3) What is the purpose of differential calculus?
A ... to measure the dependence on other disciplines
B ... to find the value of one unknown
C ... to calculate related quantities
D ... to calculate the product of two quantities
3asepuiume npeonoscenue 6 coomeenmcmeuu ¢ OCHOGHOU memoil adzaya
2. (3 muH, YK-4, I1K-3) The passage A is about
A ...the applying differential calculus to our everyday life problems
B... the way of finding the height above the sea level
C... the way to determine the air temperatures

D ... the formulas used for differential calculus usage




Onpeoenume, 6 Kakom adzaye cooouiaemcs
3. (3 mun, YK-4, IIK-3) o Tom, uto auddepeHIaabHble BHYUCICHHS CTOMT H3Y4YarTh,

IMMOCKOJIBKY OHH UMCIOT IIMPOKOC IMPAKTUICCKOC NPUMCHCHHUC.

4. (3 muH, YK-4, TIK-3)  Bwibepume npeonoscenue, coomeemcmeyouiee coO0epiHcanuio

meKcma.
A Differential calculus deals with constant values.
B Differential calculus deals with one or more dependant values.
C Differential calculus deals with two or more independent values.
D Differential calculus deals with two values only.
Ilpouumaiime nauano npeonoxcenusn u evloepume €20 RPOOoJIdHceHue

5. (3 mun, YK-4, I1K-3) Differential calculus is applicable to know ...

A ... the Cartesian product. C ... the radius of a circle.
B ... the difference of two or more values. D ... the rate of change of one related value to
the other.

Coomnecume 0anuvie ymeeprcoenus ¢ coomeemcmeyrowumu adzayamu mexkcma (A,

B, C, D uau E)

6. (3 mun, YK-4, I[1K-3) Using differential calculus we can find out the dependence between the

volume and the temperature of gas inside an engine.

7. (3 muH, YK-4, TIK-3) We can find the rate of change of related numbers by the formula
dy/dx.

8. (3 muH, YK-4, TTK-3) We often deal with two related quantities in our everyday life.

9. (3 mun, YK-4, IIK-3) The usage of differential calculus in our everyday life is like the usage

of our knowledge about volumes of geometric objects.

10. (3 mun, YK-4, T1IK-3) Sometimes people use the basic ideas of the differential calculus

without realizing this fact.

3amenume CJ1060, O0anHoe 6 cxoﬁkax, AH2TTUICKUM IKGUBAICHINOM




11. (2 mun, YK-4, IIK-3) A (tpeyroasuuk) is a plane figure founded by three straight lines and
containing three angles.

12. (2 mun, YK-4, TIK-3) ([poodn) like ¥4 represent values less than one.
13. (2 mun, YK-4, T1K-3) The common (cootnomenue) of a progression may be negative.

14. (2 mun, YK-4, TIK-3) If (MaOkecTBa) contain the same elements in exactly the same order

they are equal.
15. (2 mun, YK-4, TIK-3) You can check (nenenue) by (ymHOXeHHEM).
16. (2 mun, YK-4, T1K-3) (Cnoxenue) is the reverse operation of (Beruntanuisi).

17. (2 mun, YK-4, TIK-3) The chess-board Geometric Progression is an (Bo3pacrarorasi)

progression.

18. (2 mun, YK-4, TIK-3) Two number lines are intersected to form a coordinate (rockocts).
19. (2 mun, YK-4, T1K-3) (Hyra) is a curved segment of a circumference.

20. (2 mun, YK-4, I1IK-3) To find the value of the (mepemennas) we should solve the equation.
21. (2 mun, YK-4, I1K-3) The (u3mepenus) are to be as precise as possible.

Bcmasvme popmy ckazyemozo

22. (2 mun, YK-4, [IK-3) She just the result.

23. (2 mun, YK-4, I1IK-3) The teacher about the features of plane figures now.

24. (2 mun, YK-4, I1K-3) Mike came when | the equation.

25. (2 muH, YK-4, TIK-3) We a chord as a line whose endpoints are the points of a

circumference.

26. (2 mun, YK-4, TIK-3) He just a square.

27. (2 mun, YK-4, I1K-3) Lobachevsky non-Euclidean geometry in the 19" century.
28. (2 mun, YK-4, TIK-3) The student used this theorem while he the problem.
29. (2 mun, YK-4, I1K-3) Newton a professor of mathematics in 1669.

30. (2 mun, YK-4, TIK-3) Listen, she the second proof of this theorem now.



31. (2 mun, YK-4, TIK-3) Polynomials always more than one term.
3amenume MoOabHBLI 2714201 IKEUBAIEHINOM

32. (2 mun, YK-4, TIK-3) He must prove this statement.
33. (2 mun, YK-4, TIK-3) She can give the definition of closure.

Ynompeoume coomeemcmeyrowyro cmenens cpasnenus
34. (2 mun, YK-4, TIK-3) He met his friend yesterday. (good)
35. (2 mun, YK-4, T1K-3) Public transport in London is (expensive) than in Paris.

Ilepeseoume npeodnoscenusn
36. (2 mun, YK-4, TIK-3) The problem is likely to be solved.
37. (2 mun, YK-4, T1K-3) The man standing at the desk is my research adviser.
38. (2 mun, YK-4, I1K-3) The problem being easy, the students solved it at once.
39. (2 mun, YK-4, T1K-3) They expect to be given complete information by Friday.
Ilocmaevme cnosa 6 npasujibHom nopﬂoke

40. (2 mun, YK-4, TIK-3) the Institute — does — live — he — near?

KJIFOYH || Bapuant:

1 C/2 B/3 Al4 B/5 D/6 E/7 B/8 A/9 C/10 D/11 triangle/12 fractions/13 ratio/14 sets/15 division,
multiplication/16 addition, subtraction/17 increasing/18 plane/19 an arc/20 unknown/21
measurements/22 has checked/ 23 is speaking/24 was solving/25 define/26 has drawn/27
developed/28 was solving/29 became/30 is giving/31 contain/32 has to/33 is able to/34 best/35
more expensive/36 BepostHo, 3agauy pemart./37 YenoBek CTOSAMIMN y CTONAa — MO Hay4YHBIH
pykoBoautenb./38 Ilockonbky 3amauya ObLIa JIETKOH, CTyAeHTHl pemmian e€ cpaszy./39 Onu
PacCUYMTHIBAIOT HA TO, YTO UM JaAyT MOJIHYI0 nHpopmanuto K mstauie./40 Does he live near the
Institute?



